Attached are Puzzle #3 and a worksheet for Puzzle #3. We have included both a MS Word version and PDF version for your convenience.

This puzzle is about a different skill for operating sessions... Arriving with a full train and empty spurs and having to set-out all of the cars into a specific order on the spurs.  For that reason we have to modify the rules for this puzzle: The Main Line now has a capacity of 8 cars and the locomotive.  The worksheet has been modified to account for the capacity change.

When you find the solution for this puzzle, please send in your worksheet, so we can see how people are doing  - it helps us to plan for future puzzles.

This puzzle marks the end of the introductory skills puzzles!  The next puzzle will move away from the Inglenook format and set the way for future puzzles by showing diagrams of yards and industries that are designed by our members who have actual operating layouts.  We think you enjoy these new puzzles, applying the skills gained from the first three.  They reporting solution notation method will remain the same.

Have fun and thanks for participating!

[image: image1.png]Mainline A Spur B (cap 5)

Puzzle # 3

Set out:

1,7,6 on Spur D 6 furthest in.
2,8,30nSpurC 3 furthestin
4 and 5 on Spur B 5 furthest in

Spur C (cap 3)




